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1. (15%) Mary has preferences given by the utility function Ufx, v) = 35y,

(a).Are Mary's prefereﬁces convex? Are they monotonic? {(6%)
(b} Assume that the price for good x is $4 and the price for goad y is 33. Fmd Mary’s demand for x
and y. Draw the Engle curve for good x.  {(9%)

2. (5% BRI R RS K - BB SETARER | WRsE
TR 1000 Fr + HEHGHENE 150 f7 v EARERISASES « ERIETIRE7 S/l MK
BREASTEIAL: 25% - S54 RAOHRIENE C-D B Ule,.c;)=, ¢, » Hib o BRI
o o, ORI - .

(o) TR AT RIS, - L ATl BRERc, K50 » BE) (5%)

(b) WESERBEHRESRESOER? EREHSS  (10%)

3. (20%) CC bus’s company drives only one route: Taipei-Kaohsuing. The demand for each trip on

this route is ) =500 - P. CC's cost of n.inning each trip is $30,000 plus $100 per passenger.
{4} What is the profit-maximizing price CC will charge? How many people will be on each trii::-?
{6%) .
{b) CC finds out that two difterent types of penple take bus to Kaohsuing. Type A is busmﬁss
pecple with a demand of Q= 260 - 0.4F. Type B is students whose total demand 1s
QB' =240 -0.6F The students are easy to spot, so CC decides to charge them different prices.
Graph each of these demand curves and theiz honizontal sum. What price does CC charge on

each Lype? How many peoplc of each type wilt be on each trip? Calculate the consumer
surplug of each consumer group.  (10%6)

(c) Before CC started price discriminating. Calculate the consumer surpius of each consumer group.
Compare the result with {b).  {43%)
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